®OE O B RO R (BE4 . cErenaE ) THXS A LA
T FE | FE B B ¥ OHAL 2K = | fid i
+T
PRI +w m° 7.50
R m’® 6. 68
S A AR
H—RL— Gr-C—4E HIFIMTHY  m 5.
H—FRL— Gr-C-4E m 11.0 4+4+2+0. 5+0. 5
ESTYAESNF ) & i 6.
KT Rl
H— KL — Gr-C-4E m 29.5
TR E AR
H—FrL— Gr-C-4E m 45.0
ERGIECS 2= 1R W=0. 45m m 4.0
NN W=0. 15m m 93.0
77 W=0. 45m m 39.1
ESEl W=0. 15m m 5.0
By gt
X iR T HMAI#R m 1250. 0
KREFAHR
X R T AMATHR FEiH m 806. 8
HMEIBR TR m 12.0
R m 175.0
VAR A= ]
T AT LR ®800 B2 1.
B 3% T 6 I A s 2= 3 1.
e L AR
T Xy R 7z A H1800 m 17.2
BEER A — KA TR m 17.2 K TBD1B
TR B IR
T S AT LA ®800 I 1.0 BERREE - BEH
JFTE PR = Fofg
T B e AT LA 800 i 1.0 | =/ =M n




BRSSO S AR T e, FHE=M, KEERALR  FH3EHT

AR 3 X 2.5 = 7.500 m3
HWE 3 X 2.226 = 6.678 m3
7R 7.500 m3

R Et 6.678 m3



18 R A AR T 125 Y
T fE oH H 2V HAL % ] g
1B B S B
2T L APRO0 [i] 1. 000
S BT SR
B AR IR (D 76. 3+14000) N 1. 000
Hifg=a o 7)) — K
[1500%900 ] 1. 000
Hifg=a o 7)) — |k 0.500 * 0.500 * 0.900
18-8-40BB m3 0. 225
HpE oy 7 U — MR 0.500 * 0.900 * 4.000
nt 1. 800
B B ) 0.700 * 0.700
RC-40 t=10cm m 0. 490
7N 0 ( 1.000 * 1.000 + 2.000* 2.000) / 2
* 1. 000 m3 2.5
g B 2.5 — (0.700 % 0.700 % 0.100 + 0.500
% 0.500 * 0.900 ) m3 2.226
BERR FEREL S - A5y 0.500 * 0.500 * 0.500 B IHEE
m3 0.125
PR BRSNS - sy | 13k g + 23. 1kg m : 13kg
kg 36.1 | XHE:23. 1ke




PR T st
T f& - M H =1 = BT 2% = fE G2
g A
Gr-C-4E m 5.000 | FEWan7mkR
Gr-C—4E m 11.000  EfERTHMR
Gr-C—4E m 29.500  #HAF Kk
Gr-C—4E m 45.000 EmTEEaE
A v a7« A UN-HI800-50
(BERXGpHUfTH) m 17.200 ks
BERX T — K8 i B TEX D 1 Bea ik
(1B%) m 17.200  faLfEEh
BESR H — B3 THE RS 18.300 (3B -kg/m) + 3% 17.200
kg 104. 92 | HIL{EFER




ENETE N

1RE D

T M - M A

A X

AL

%

fif =

FMA#R
H#R « SEH8R - W=15cm

70. 000 + 555.000 + 625. 000

1250.

000

et e S

Y77 4
B - FEHE - W=15cm

19. 000 + 74.000

93.

000

Y77
H#R « SEHR - W=45cm

20. 300 + 18.800

39.

100

(EI
B« EHE - W=45cm

. 000

KH]
W=0. 15m

. 000

o L5 2

FMA#R
Bk - 24 - W=15cm

213.200 + 36. 300 + 149.200 + 408. 100

806.

800

P4 il
H#R « flHR - W=15cm

6. 000 + 6.000

12.

000

H o
H#R « flHR - W=15cm

175.

000

KRBT

e




I ® B ¥

it X B

IiE . No. 1
X5 BIAE HE | B (HAILY |[VEXB| REX | BEER |EXEHR "E
£ % 2|mE%% B % [ 30/19
R E#F (E4 - 15cm) 2,056.800f m 1,500.000f 1.000 1.370 2.160 I1-12-Q-2
= 1L #% (W=45cm) 3.600f m 800.000( 1.000 0.000 0.000 I1-12-Q-2
7 5 5 # W=15cm) 93.000] m 1,100.000| 1.000 0.080 0.130 I1-12-Q-2
+ 75 (W=45cm) 39.100] m 600.000( 1.000 0.070 0.110 I1-12-Q-2
&HI 5.000f m 500.000( 1.000 0.010 0.020 I1-12-Q-2
Gr-C—-4E 94.500] m 130.000] 1.000 0.730 1.150 1-12-Q-5
0.000 0.000
0.000 0.000
0.000 0.000
0.000 0.000
0.000 0.000
2.260 3A
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